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Reasoning Questions

1. AB is a chord of a circle. AB = 5 cm. A tangent parallel to AB touches the minor arc AB at E. What is the radius of  

    the circle? 

1. AB is not a diameter of the circle.
2. The distance between AB and the tangent at E is 5 cm.
A. using 1st Statement only        


B. using 2nd statement only        

C. using both 1st and 2nd statement    

D. using 1st or 2nd statement
2. D, E, F are the mid points of the sides AB, BC and CA of triangle ABC respectively. What is the area of DEF in  

     square centimeters? 

 

A. AD = 1 cm, DF = 1 cm  and perimeter of DEF = 3cm. 

 

B. Perimeter of ABC = 6 cm, AB = 2 cm, and AC = 2 cm.
A. using 1st Statement only        


B. using 2nd statement only        

C. using both 1st and 2nd statement    

D. using 1st or 2nd statement
 3. What is the Cost Price of the article ? 

1. After selling the article, a loss of 25% on Cost Price incurred. 

2. The Selling Price is three-fourths of the Cost Price.
A. using 1st Statement only        


B. using 2nd statement only        

C. using both 1st and 2nd statement    

D. using 1st or 2nd statement
4. A tractor travelled a distance of 5 m. What is the radius of the rear wheel ? 

1. The front wheel rotates "N" times more than the rear wheel over this distance.
 
2. The circumference of the rear wheel is "t" times that of the front wheel.
A. using 1st Statement only        
B. using 2nd statement Only            C. using both 1st and 2nd statement    

D. using 1st or 2nd statement       


E. Cannot be answered even by using both the statement
5. What is the Selling Price of the article? 

 

1. The profit on Sales is 20%. 

 

2. The profit on each unit is 25% and the Cost Price is Rs. 250.
 
A. using 1st Statement only                 B. using 2nd statement only          C. using both 1st and 2nd statement    

D. using 1st or 2nd statement      
    E. Cannot be answered even by using both the statement
6. The number 13409 and 16760 when divided by a 4 digit integer and leave the same reminder then the value of 
      n is 
A.1127     

   B.1117          
 
 C.1357      
  
D.1547
7. If the price of petrol increases by 25%, by how much must a user cut down his consumption so that his 
expenditure on petrol remains constant ?
 
A.25%      

  B.16.67%      

  C.20%       
 
D.33.3%

8. In a mile race Akshay can be given a start of 128 meters by Bhairav. If Bhairav can given Chinmay a start of 4 meters in 
    a 100 meters dash, then who out of Akshay and Chinmay will win a race of one and half mile, and what will be the final 
    lead given by the winner to the loser ?
 
A. Akshay, 1/12 miles    
B. Chinmay, 1/32 miles    
C. Akshay, 1/24 miles   
D. Chinmay, 1/16 miles
 9. Thirty days are in September, April, June and November. Some months are of thirty one days. A month is chosen at 
      random. Then its probability of having exactly three days less than maximum of 31 is .......
 
A.15/16     

B.1       


 C.3/48      

D. none of these  
10. What is the number of distinct terms in the expansion of (a + b + c)20 ?
 
A.231        

B.253      

  C.242        

D.210

Aptitude Questions
11. If x = (163 + 173 + 183 + 193), then x divided by 70 leaves a reminder of
 
A.0        


B.1       


 C.69       

 D.35
12. A chemical plant has four tanks (A, B, C and D), each containing 1000 liters of a chemical. The chemical is 
       being pumped from one tank to another as follows:From A to B at 20 liters/minute From C to A at 90 
       liters/minute. From A to D at 10 liters/minute From C to D at 50 liters/minute. From B to C at 100 
       liters/minute From D to B at 110 liters/minute. Which tank gets emptied first and how long does it take (in 
       minutes) to get empty after pumping starts ?
 
A. A, 16.66    

B. C, 20       

C. D, 20        

D. D, 25

13. A manufacturer has 200 liters of acid solution which has 15% acid content. How many liters of acid solution 
       with 30% acid content may be added so that acid content in the resulting mixture will be more than 20% but 
       less than 25% ?
 
A. More than 100 liters but less than 300 liters

B. More than 120 liters but less than 400 liters
 
C. More than 100 liters but less than 400 liters

D. More than 120 liters but less than 300 liters

14. The average of nine numbers is M and the average of three of these is p. If the average of remaining numbers 
        is N, then
 
A.M = N + P        

B.2M = N + P        

C.3M = 2N + P        
D.3M = 2P + N

15. Let S be a set of positive integers such that every element n of S satisfies the conditions:- 
 

a) 1000 < n < 1200 b) every digit in n is odd. Then how many elements of S are divisible by 3 ?
 
A.9    

 
B.10        

C.11       


 D.12
16. The Intersection of two cubes cannot be:-
 
A. cube      
 
 B. triangle        

C. a rectangle        
D. none of these

17. A cylinder is 6 cms in diameter and 6 cms in height. If spheres of the same size are made from thematerial obtained, what is the diameter of each sphere?
 
(a) 5 cms

(b) 2 cms

(c) 3 cms

(d) 4 cms
18. The difference b/w the compound interest payble half yearly and the simple interest on a certain sum lent out at 10%  

       p.a for 1 year is Rs 25. What is the sum?
 
(a) Rs. 15000

(b) Rs. 12000

(c) Rs. 10000

(d) none of these
19. What is the smallest number by which 2880 must be divided in order to make it into a perfect square ?
 
(a) 3


(b) 4


(c) 5


(d) 6
20. A father is 30 years older than his son however he will be only thrice as old as the son after 5 years what is father,s 
       present age ?
 
(a) 40 yrs

 (b) 30 yrs
       
(c) 50 yrs

(d) none of these

Verbal Questions 

Directions for Questions 21-25: Read the passage and answer the questions that follow on the basis of the information provided in the passage.

Work expands so as to fill the time available for its completion. The general recognition of this fact is shown in the proverbial phrase,' It is the busiest man who has time to spare'. Thus, an elderly lady at leisure can spend the entire day writing a postcard to her niece. An hour will be spent in writing a postcard , another hunting for spectacles, half an hour to search for the address , an hour and a quarter in composition and twenty minutes in deciding whether or not to take an umbrella when going to the pillar box in the street. The total effort that could occupy a busy man for three minutes, all told may in this fashion leave another person completely exhausted after a day of doubt ,anxiety and toil.

21. What happens when the time to be spent on some work increases? 
 
A) the work is done smoothly. 
B) the work is done leisurely. 
 
C) work consumes all the time. 
D) The work needs additional time. 
22. Explain the sentence: work expands so as to fill the time available for its completion’. 
 
A) The more work there is to be done, the more time needed. 
 
B) whatever time is available for a given amount of work, all of it will be used. 
 
C) If you have more time you can do some work. 
 
D) If you have some important work to do, you should always have some additional time. 
23. Who is the person likely to take more time to do work.: 
 
A) a busy man. 

B) a man of leisure. 
C) an elderly person. 
D)an exhausted person 
24. What is the total time spent by the elderly lady in writing a postcard? 
 
A) Three minutes. 

B) four hours and five minutes. C) half day 
D)the entire day. 
25. What does the expression ‘pillar box’ stand for? 
 
A) a box attached to the pillar. B) a box in the pillar 

C) box office. 
D) a pillar type postbox. 

Directions for Questions 26-28: one of the four sentences given in each question is grammatically wrong. Find the incorrect sentence.

26. A) Our followers are but a handful.
     
B) Neither he nor I was there.
      C) Many a glorious deeds were done.

D) Everyone of the boys loves to ride.
27.  A) She had finished her work when I met her.
B) Do you believe in God?
       C) He cut his hand with a knife.


D) He challenged me for a duel.
28.  A) Sumit is my elder brother.


B) He is two years younger to me. 
       C) He is the eldest man of this village.

D) Ravi is five years older than me.

Directions for Questions 29-30: In question below, the passage consist of six sentences. The first and sixth sentences are given in the beginning. The middle four sentences in each have been removed and jumbled up. These are labeled as P, Q, R and S. Find out the proper order for the four sentences.

29. 
S1:  For some time in his youth Abraham Lincoln was manager for a shop.
 
P :  Then a chance Customer would come.
 
Q :  Young Lincoln way of keeping shop was entirely unlike anyone else's
 
R :  Lincoln would jump up and attend to his needs and then revert to his reading.
 
S :  He used to lie full length on the counter of the shop eagerly reading a book.
S6:  Never before had Lincoln had so much time for reading as had then.
The Proper sequence should be:
 
A. SRQP

B. QSPR

C. SQRP

D. QPSR

30. 
S1:  Smoke oozed up between the planks.
 
P :  Passengers were told to be ready to quit the ship.
 
Q :  The rising gale fanned the smouldering fire.
 
R :  Everyone now knew there was fire on board.
 
S :  Flames broke out here and there.
S6:  Most people bore the shock bravely.
The Proper sequence should be:
 
A. SRQP

B. QPSR

C. RSPQ

D. QSRP

Technical Questions
31. What will be output of following c program?

#include<stdio.h>

#include<conio.h>

void main(){

    int z;

    z=(5,3,2);

    printf("%d",z);

}

(A) 5
 
(B) 3
 
(C) 2
 
(D) 10

 (E) Compilation error

32. What will be output of following c program?

#include<stdio.h>

#include<conio.h>


void main(){

    int i=5,j=10,num;

    num=(++i,++j,i+j);

    printf("%d  %d  %d",num,i,j); 

}

(A) 17  6  11
 (B) 6   6  11
 (C) 15  6  11
 (D) 15  5  10
 (E) Compilation error

33. What will be output of following c program?

#include<stdio.h>

#include<conio.h>

float avg(float,float,float);

void main(){

    float p=1,q=2,r=-2,a;

    a=avg(p,(q=4,r=-12,q),r);

    printf("%f",a); 

}

float avg(float x,float y,float z){

    return (x+y+z)/3;

}

(A) 0.111111
 (B) 1.000000
 (C) -0.777777
 (D) -1.000000
 (E) Compilation error
 
34. What will be output of following c program?

#include<stdio.h>

int main(){

    float **(*ptr)[4]=(float **(*)[4])0;

    ptr+=5;

    printf("%d  %d",ptr,sizeof ptr);

    return 0;

}

(A) 0  2
 
(B) 5  2
 
(C) 4  2 
 
(D) 40 2

(E) Compilation error
35. What will be output of following c program?

#include<stdio.h>

struct myStruct{

    int a;

    char b;

}*ptr;

int main(){

    struct myStruct ms={400,'A'};

    printf("%d  %d",ptr->a,ptr->b);

    return 0;

}

(A) 400 A
 (B) 400 65
 (C) 400 97
(D) 0  0
 
(E) Compilation error 
36. What will be output of following c program?

#include<stdio.h>

int main(){

float x;

    x=(int)5.6f*3.2f/sizeof((int)6.6);

    printf("%f",x);

    return 0;

}

(A) 8.960000
 (B) 9.600000
 (C) 8.000000
 (D) 2.000000
 (E) Compilation error 
37. What will be output of following c program?

#include<stdio.h>

#define plus +

#define minus +plus

int main(){

    long x,i=3;

    x=+ + i;

    printf("%ld",x);

    return 0;

}

(A) 4
 
(B) 3
 
(C) 0

(D) 6

(E) Compilation error

38. What will be output of following c program?

#include<stdio.h>

int main(){

    float x;

    x=(int)1.1,(float)2.2,(int)3.3 ,5.4;

    printf("%f",x);

    return 0;

}

(A) 1.000000
 (B) 5.400000
 (C) 2.200000
 (D) 3.300000  
(E) Compilation error
39. What will be output of following c program?

#include<stdio.h>

#include "string.h"

typedef struct stu1{

    int roll;

    char *name;

    double marks;

}STU1;

typedef struct stu2{

    int roll;

    char *name;

    double marks;

}STU2;                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                       
void main(){

   

 STU1 s1={25,"Rohit",87.43},*p1;

    STU2 *p2;

 
   p1=&s1;

  
memcpy(p2,p1,4);

    printf("Roll  : 
%d\n",p2->roll);

 
   printf("Name  : %s\n",p2->name);

 
   printf("Marks : %lf",p2->marks);  

}


(A) Roll  : 25
Name  : Rohit
Marks : 87.430000
 (B) Roll  : 25 Name  : Rohit        Marks : 0.000000 

(C) Roll  : 0
Name  : Rohit
Marks : 87.430000
 (D) Roll  : 0   Name  : null
           Marks : 0.000000
 

(E) Compilation error
 

40. What will be output of following c program?

#include "string.h"

typedef struct stu1{

    char name1[6];

    char name2[6];

    double marks;

}STU1;

void main(){

    STU1 s1={"rohit","kumar",87.43},*p1;

    char *p;

    p1=&s1;

    p=memchr(p1,'u',sizeof(STU1));

    printf("%s",p); 

}

(A) r
 
(B) rohit
 (C) umar
 (D) rohit kumar

(E) Compilation error

********** ALL THE BEST *********

